50, will be treated as malpractice.

agonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers, compulsorily draw di

,/‘, :
\u\qn 1!!'»‘:59‘
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Note: Answer any FIVE full questionsqosmg ONE full question jjor:’ each module.

% ule-1 g
a. Explain with example prograrr% console input and @ e output are performed in

G (05 Marks)
b. Explain function overloading an example progra (05 Marks)
c. What are reference variaﬁim C++? Explain with &ple program. (06 Marks)
OR
a. [Explain the usage pe resolution operator with an example program. (08 Marks)
b. Explain parame ‘constructor with an ple program. (08 Marks)
‘“% é MOd
a. Listand explain the java Buzzwords. (08 Marks)
b. Explaindvatious arithmetic operatorg/present in java with examples. (08 Marks)

a. Explain with examples three uses . reak statemen
b. Explain various iteration statem nts present in Java

(08 Marks)
de smppets: Q’ (08 Marks)

Module- .
a. What is instance varlabl dmg? How it c Vercome? Explain4vith an example.
. (08 Marks)

: 1 idmg with an ex&; ogram. (08 Marks)

\ &vith examples{: (06 Marks)
‘working of try tch blocks with suitable example

(05 Marks)

ally clause with an example program. (05 Marks)
itha : example program. (08 Marks)

an be created by }mp ementing runnable interface with an example

‘program. . Q (08 Marks)
,. % OR
a. Explain delggation event model used to handle events in Java. (08 Marks)
b. Briefly explain various sources 6fevents. (08 Marks)
; Module-5
a. Define Applet. Explain the-skeleton of an Applet in detail. (08 Marks)
b. How can we pass parameters to Applets? Explain with an example program. (08 Marks)
; OR
a. Explain the following: i) JButton ii) JToggleButton iii) JCheckBoxes
iv) Radio But&ons. (08 Marks)

b. Explain JTabbedPane and JScrollPane with example programs. (08 Marks)

% %k %k %k 3k




